21,

22.

23.

24.

Elaborate on division of labour.
Caumaliugliy Lph elaufssmrss.

Explain the dynamics of stratification system.
2lQsEamoliL apenpuilen @uissSmS eilaTsEs.

Bring out the agencies of social change.

- saps LIHPFHlen paauismer Qeuallstamemris.

Compare and contrast Westernisation and

Modernisation. ' ‘
GupssSuowionge LHMILD BAIRTLOUILDTHENG

U ®, CaugiBiésis.
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SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

Each answer should not exceed 30 words.

/

1. Define Society.
FUPSLD - UMTWID).
2.  What is culture?
SOESTID GTETHTE 6TEHEN?
3.  What is meant by kinship?
2 méyapen ereniger GUmmeT wmg)?
4. What does alienation refer to?
SBHILIDISED TETLIZ TSS GDISEGLD?

5.  List out the types of suicide. -

sHsrameudsr sumssments U igwalGs.

6. What is ‘Self?

‘GUILD’ eTENMTeD GTetta?

PY;de,l% od Sodojﬂa y

| Maximum : 75 marks



10.

11.

12.

13.

Define class.

GUTESLD - QUETWII.

What is social stratification?

Fep8 3|(DEHEMLIL| eTaLISen GLITneT eTamen?

What does social change mean?

FOPS DIHHLD 6TmLIGHE 6l LIM(MET Wimg)?

What is meant by‘in'd.ustr‘ialisation? 7
QBMHDUIDTESED GTENDTE) GTEITHT?

What do you understand by sanskritisation?
FLEE HSL WIS eramLigl LpH Belli Sifloug wirg?

Give any two common objectives of social
movements. - ' )

&(y;e; Qusstisafier Qurrgmnm<@uséur® Crrnésmisamer '

GHILYHS.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Each answer should not exceed 200 words.
Differentiate between Association and Institution.
Blanewwid wHmid Hneuasams Coumu®sss.

2 71122/SBT1A

14.

15.

16.

17.

18.

19.

20.

Bring out the relation between Sociology and
Psychology. '

@enL_Guiwimen

Fep&HelILQISED 2 areflugnsELD

Qgmirerrs ClouafléGlamenia.

Elucidate the Ideal types.

Qasflud eumssmer QeuefliLh5gs.

Describe Pattern variables.

Gamyenfl wrPlser uHH eNeufés.

List out the features of caste system.

&8 SenwoLier é{LberréJa;Gmmu ui'_lq.u_m&@a;.
Comment on the pace of social change.

geps wrHDSHer Gousd LHHl as@(é,g]m'rjésa;.
‘India is a multi-cultural society’ — Establish.

‘QiHuT @ Lenaps uaTUTH seps&d’ - Hmieys.

SECTION C — (8 x 10 = 30 marks)
Answer any THREE questions.

Each answer should not exceed 500 words.

Describe the social processes.

sops QewpupriGamer efeuflés.
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